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interface port-channel 1019
swi tchport access vlan 4
no | acp suspend-i ndi vi dual

interface Ethernetl/19
description csmb-ceph-001

swi tchport access vlan 4
spanni ng-tree port type edge
spanni ng-tree bpduguard enabl e
spanni ng-tree guard root
channel -group 1019 node active
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Nexus9396X- 2# show port-c sum

Flags: D- Down P - Up in port-channel (nenbers)

I - Individual H - Hot-standby (LACP only)

s - Suspended r - Mbodul e-renoved

S - Switched R - Routed

U - Up (port-channel)

M- Not in use. Mn-links not net

G oup Port- Type Protocol Member Ports

Channel

1019 Po1019(SD) Eth LACP Eth1/19(I) ----> Indicates No PDUs are being received
LACP 2 A| SCH7l0l2 &Ad5tst 7=|0( J|EdMo =z §I-A-|=|.EI) QlA| SCtHof CHEH O] gk A

A&LIch aedLt m|o{oll A PDU(Protocol Data Units)E =I5t X| &t = Olf & S50k

M

SRS
=y

ok Ml

Nexus9396X- 2# show lacp interface el/19

Interface Ethernet1/19 is individua

Channel group is 1019 port channel is Pol1019

PDUs sent: 63

PDUs rcvd: 0 ----> Indicates No PDUs are being received from UCS server.
Markers sent: O
Markers rcvd: O

Mar ker response sent:
Mar ker response rcvd:
Unknown packets rcvd:
Il'l egal packets rcvd
Lag Id: [ [(O, 0-0-0-0-0-0, O, O, O), (O, 0-0-0-0-0-0, O, O, 0)] 1
Operational as aggregated |ink since Thu Jan 1 00:00: 00 1970

0
0
0
0

Local Port: Ethl/19 MAC Address= 7c-69-f6-10-59-d7
System | denti fi er=0x8000, Port Identifier=0x8000,0x113
Oper ati onal key=33787

LACP_Activity=active

LACP_Ti neout =Long Ti neout (30s)

Synchroni zati on=I N_SYNC

Col | ecti ng=true



Di stributing=true

Partner information refresh timeout=Long Ti neout (90s)
Actor Admin State=125

Actor Oper State=125

Nei ghbor: 0x0

MAC Address= 0-0-0-0-0-0
System Il denti fier=0x0, Port Identifier=0x0,0x0
Oper ational key=0

LACP_Acti vi t y=unknown

LACP_Ti neout =Long Ti meout (30s)
Synchroni zati on=NOT_I N_SYNC

Col | ecti ng=f al se

Di stributing=fal se

Partner Admin State=0

Part ner Oper State=0

Aggregate or Individual (True=1)= 1
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